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QUESTION 1

Which of the following graphic interfaces is capable of the HIGHEST possible resolution?
A. Component video

B. VGA

C. S-Video

D. DVI

Correct Answer: D

QUESTION 2

Which of the following language categories is MOST commonly used in databases?
A. Query

B. Assembly

C. Markup

D. Scripting

Correct Answer: A

QUESTION 3

Which of the following computing devices is MOST likely to have an internal wireless antenna?
A. Mobile phone

B. Workstation

C. Server

D. NAS

Correct Answer: A

QUESTION 4

Consider the following statements:
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if userin = “commander”
then clearance = “topsecret”
else 1f userin = “analyst”
then clearance = “restricted”
else
clearance = “normal”

Given the input (userin) of “analyst’, to which of the following would the clearance variable be set?
A. topsecret

B. normal

C. analyst

D. restricted

Correct Answer: D

QUESTION 5

Which of the following OS types is MOST likely to be used by a public cloud service provider?
A. Hypervisor

B. Embedded

C. Workstation

D. Mobile

Correct Answer: A

QUESTION 6

Which of the following is MOST likely to be considered protected personal information?
A. Property tax records

B. Court records

C. Medical records

D. Genealogy records

Correct Answer: C
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QUESTION 7

Which of the following language types would MOST likely be used to display information in a web browser?
A. Assembly

B. Scripting

C. Markup

D. Compiled

Correct Answer: C

QUESTION 8

Which of the following are the primary functions of an operating system? (Choose two.)
A. Provide structure for file and data management.

B. Provide protection against malware and viruses.

C. Provide peer-to-peer networking capability.

D. Provide user data encryption.

E. Provide virtual desktop capability.

F. Provide system resources.

Correct Answer: AF

QUESTION 9

A user wants to ensure that a banking site is secure before logging in. Which of the following should the user look for in
the URL?

A. SFTP
B. SSL
C.HTTPS
D. HTML

Correct Answer: C

QUESTION 10
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Which of the following would be the BEST design construct to allow developers to group functions and properties for
reuse when designing an application?

A. Constant

B. Vector

C. Function

D. Class

Correct Answer: C

Function = reusable blocks of code

QUESTION 11

Which of the following concerns does installing cross-platform software address?
A. Subscription

B. Licensing

C. Product key

D. Compatibility

Correct Answer: D

QUESTION 12

A user needs to enter text and numbers to produce charts that demonstrate sales figures. Which of the following types
of software would BEST complete this task?

A. Text editing software

B. Visual diagramming software
C. Spreadsheet software

D. Web browsing software

Correct Answer: C

QUESTION 13
Which of the following is the LARGEST storage capacity?
A.1PB

B. 100TB
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C. 9,000GB
D. 9,900MB

Correct Answer: A

QUESTION 14

A company wants a solution with an easily searchable method of storing information and files associated with a
customer. Which of the following should be used to implement this business case?

A. Flat file

B. Fileshare

C. Database

D. Spreadsheet

Correct Answer: C

QUESTION 15

Given the following pseudocode:

For each apple in the basket, eat two oranges unless
it is the last apple, then eat three oranges.

If there are seven apples in the basket, which of the following would be the number of oranges a person eats?
A. 10

B. 14

C.15

D. 17

Correct Answer: C

Because the person eats 2 oranges 6 times which equals to 12 and then eats 3 oranges for the last apple which gives
the grand total of 15.

Latest FCO-U61 Dumps FCO0-U61 VCE Dumps FCO0-U61 Practice Test

Latest FC0O-U61 Dumps | FC0-U61 VCE Dumps | FC0-U61 Practice Test 6/6


https://www.passapply.com/fc0-u61.html
https://www.passapply.com/fc0-u61.html
https://www.passapply.com/fc0-u61.html
http://www.tcpdf.org
https://www.passapply.com/fc0-u61.html
https://www.passapply.com/fc0-u61.html
https://www.passapply.com/fc0-u61.html

